1.y = —3sin(4x — m)
amplitude:

period:

horizontal shift:
vertical shift:

-

3 T
2.y = 5C0STX — 1
amplitude:
period:
horizontal shift:
vertical shift:

-

3.y =4tan(x + ) + 2
amplitude:

period:

horizontal shift:

vertical shift:

-

1 b4
4.y =—-cotox+1
amplitude:
period:
horizontal shift:
vertical shift:

-

5.y= 25ec(5x +37n)
amplitude:

period:

horizontal shift:
vertical shift:

-

T\ 1
6.y = —csc(2x—;) +E
amplitude:
period:
horizontal shift:
vertical shift:




7.y = —%tan(Sx —g) —%
amplitude:

period:

horizontal shift:

vertical shift:

-

4

8.y= gcsc(%nx+n) —g
amplitude:

period:

horizontal shift:

vertical shift:

-

9.y = 2cot(§x+%) +1
amplitude:

period:

horizontal shift:

vertical shift:

-

10.y = —%sec(nx—§)+%

amplitude:
period:
horizontal shift:
vertical shift:

-

11.y = 2sinx — cos x

Draw enough to fill entire graph.

12. y = x —sin2x

Draw enough to fill entire graph.




